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)21. ~:5:K1-r9U:ctl9 1 sl Et\JffiJ®.foJ? (A)-152 (B)-76 (C)76 (D)152 o 

9 5 5 
I 

)22.fiA:5:K~15+6..J6 -~10-4..J6 =? (A)2..J6 (B)5 (C)1+..J6 (D)-3 o 

)23. ~~P(2, 4)~Q( 4, 2)1®-~~3¥-IIDJ:Z.l'NI!i, ~:5:K~~PQEt\]~][3f-5t~:JJ~:ct? (A)x+ y-3 = o 
(B) X+ y = 0 (C) X- y-3 = 0 (D) X- y = 0 ° 

)24.;fix3 +3x2 -4x+1=a(x-1)3 +b(x-1)2 +c(x-1)+d '~Ua-b+c-d=? (A)-1 (B)O (C)1 (D)2 o 

x+5 1 -1 
)25.~~~x 5

1=1, ~Uh9U:ct -2 -4-x 3IZ.ffiJ®.foJ? (A)-7 (B)-8 (C)-9 (D)-10 o 
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)26.~:5:K-+-+-+-+-+-+-+-=? (A)- (B)- (C)- (D)- o 
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)27.~:5:KL .Jk ~=? (A)7 (B)6 (C)s (D)4 o 

k=l k + k-1 

{
x-2y+4~0 

)28.~:5:KJ(x,y)=2x-y+1tE::f~:ct~ x+y -s~o ~iMZ~, ~U~¥UI¥1lN'J\ffiJ®.fDJ? (A)2 (B)3 
l:Sx:S6 

(C)4 (D)5 o 

)29.;fia .. .B1®-:1J~:ctx-i=-1Et\Jl'NifllW•m, ~U(3_+1)(3_+1)=? (A)-1 (B)_!_ (C)1 (D)~ o 

x a .B 3 3 

)30. ;fi::f~Atrr2 -2x+b > o ZmJ®.-4 < x<2 , ~U a+b = ? (A)7 (B)6 (C)-5 (D)-8 o 

)31. 89a:JJ(x)=8x4 -2x3 +x2 +3x+1 ';fi f(x)~t,Z2x+1 ~~~1®-m ; ~t,Z2x-1~~:ctJ®.n '~Um+n= ? 
7 5 3 1 (A)- (B)- (C)- (D)- o 
2 2 2 2 

)32.~:5:K::f~:ct(x+1)(2x-l)sOEt\JmJ®.fDJ? (A)x~-1 (B)-1sxs~ (C)x~~ (D)x~l o 

)33. ~~~r&~l5+18+21+ .. ·+ ~n:IJiEt\Jf!l~ 600 ' ~Un=? (A)16 (B)20 (C)23 (D)25 o 

)34.;fi~~~~9UI¥1~=J'jiJ®. 17 , ~:fL:IJiJ®. 5 , ~Ulft~9U~~Jjii*J~~J1JG~~? (A)12 (B)13 
(C)14 (D)15 o 

)35.~a1®-.Jti' _§_][~(3a-1)x-2y=a+15Siflim~:§g~~~' ~UaEt\JOJijgia~~foJ? (A)a<-1 
1 1 (B)-1sas- (C)-<a<1 (D)a~1 o 

3 3 
)36.~a .. .B .. r1®-x3 -6x2+1lx-6=0Et\1=1&' ~U(a-.8)2 +(.8-r)2 +(r-a)2 =? (A)6 (B)5 (C)4 

(D)3 0 

)37. ~~~~ttt&lff§:IJiJ®. 2 '0tt1®- 3 'f[JJ®. 2186 '~Ulftt&~fl?PYJ'ji? (A)9 (B)8 (C)7 (D)6 
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) 38. ~:5:K~~t&II f 2
n

3
: 

5 
= ? (A)~ (B)8 (C)~ (D) oo o 

n=O 

)39.~~ 5x2-3x+1 =_!!_+ bx+c '~Ua+b-2c=? (A)-6 (B)-4 (C)3 (D)5 o 

(x-2)(x2 +1) x-2 x2 +1 
)40.~~l'N:?P:IJiAJ(x)=~+3x2 +cx+2' g(x)=x3 +bx2+x+d ';fij(1)=g(l) 'f(2)=g(2) 'f(3)=g(3) 

' J(4)=g(4) '~Ua+b+c+d=? (A)1 (B)3 (C)5 (D)7 o 
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